]/dY IN= 85 dY=A4[1+A,/A Y]

for achromatic colours X, dY, logY
in WN-direction -1.0 0.0310.25
-0.5 0.0540.75
0.0 0.1271.25
05 0.3591.75
1.0 1.0912.25
A,lA; = 0.2895
A1 0.0205 4 =0.005

1
1
PHO )
1
1
1

Richter_D_POZ_OZZSl
(xy,Y}=(0,33, 0,36, 18)

p————

025 0,75 1,25 1,75 2,25 x,=log[Y]
1,8 36 18 90 180 Y




]/dY IN= 85 dY=A4[1+A,/A Y]

for achromatic colours X, dY, logY
in WN-direction -1.0 0.03 0.25
-0.5 0.0550.75
0.0 0.1331.25
05 0.3821.75
1.0 1.17 225
A,/A; = 0.3405
A;=0.0187 A =0.006
"M3=10 A=1.0
Rlchter D_PO2_066S)

(x,y,Y)~(0,33, 0,36, 18)

p————

025 0,75 1,25 1,75 2,25 x,=log[Y]
1,8 36 18 90 180 Y




]/dY IN= 85 dY=A4[1+A,/A Y]

for achromatic colours X, dY, logY
in WN-direction -1.0 0.0330.25
-0.5 0.0590.75
0.0 0.1391.25

0.5 0.3941.75

, 10 1198225

) AJlA; = 0.298
A;=0.0219 A = 0.006!
A3=1.179 A=1.685
Richter_P_PO4_066A|
(x,y.Y)=(0,33, 0,36, 18)

p————

025 0,75 1,25 1,75 2,25 x,=log[Y]
1,8 36 18 90 180 Y




